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1 Sequential Formulation (50 points)

Assume a representative agent economy with endogenous labor supply, no population
growth (n = 0), and no technological growth (¢ = 0). Households value leisure and con-
sumption, according to a lifetime utility function: Y ,°, B'u(ct, 1—1¢), where [, is the amount
of labor supplied. Capital depreciates at a constant rate § > 0, and there is a government
that has expenditures equal to g; at period ¢, where gs+1 = pgs, go is given and p < 1. The

resource constraint is:

ct +kip1 + gt = (1= 0)ky + F(kyg, 1)

Assume that households and the social planner take expenditures {g;};2, as given and

beyond their control.

a. Social planner: State the social planner’s problem sequentially and solve it to char-

acterize the Pareto-optimal allocations.

The social planner’s problem is:

o0

max Z Blu(cs, 1 —1;)  s.t.

eyl kit =0

Ct + k’t+1 + gr = (1 — (S)kf + F(kf lf)

gt+1 = pgt,  Ct keyr >0, ko, go given

The optimality conditions are, for all ¢ > 0:



Euler eq.:

Intratemporal:

Res. const.:

Transv. cond.:

Init. cond.:

b. Competitive equilibrium: To finance expenditures g;, assume there is a govern-
ment that charges labor income taxes 7/, such that after-tax income of households is
(1— T,f)wtlt, where w; is the wage. Also, the government levies consumption taxes 7,

such that total expenditures on consumption are equal to (1+7f)c;. Note that 7f and

l

Assume that every period the government chooses 7} and 7f such that its budget is

ue(ee, 1 — 1)
5?Lc(ct+17 1- lt+1)

=1—0+ Fi(kiy1,li41)
uc(ct, 1 —le) Fi(ke, le) = we, 1 — 1)

ct+ ke + 90 = (1 —0)ke + F ke, 1)

T Fue(er, 1 Ik =0

ko given

7; can be negative, in which case they are interpreted as subsidies.

balanced in equilibrium, which means that:

In addition, households have access to risk-free bonds that yield net returns equal to

l
gt = Tywily + T ¢y

r¢. Define a competitive equilibrium.

The household’s problem is:

max Z Blu(cs, 1 —15)  s.t.
t=0

eyl ker1,ae4+1

(1 + th)(lt +kip1 + a1 = (1 — (5)]{/} + Rik: + (1 — TtZ)wt + (1 + rt)at

a1 > —A

Ct, kt—l—l Z 07

The firm’s problem is:

ko, ap = 0 given

max F(k?t, lt) - U)tlt - Rtkﬁt

ki,lt



A competitive equilibrium are allocations for the household {c;, IFk}, 1, a141}52,, al-
locations for the firm {k{, 18190, prices {wy, R, 7:}5%,, and taxes {7}, 7£}22,, such
that:
(a) {ci, I8k] 1, ai41}52, solve the household’s problem.
(b) {kf, 18122, solve the firm’s problem
(c) {wy, Ry, 152 are such that markets clear:
i. Goods: ¢+ kip1+ gt = (1= 0)ky + F(ky, ly)
ii. Labor: I =13
iii. Capital: k{ = &}
iv. Assets: a; =0

(d) {7}, 7£}52, are such that the government’s budget is balanced:

l c
gt = T,wily + Ti ey

c. Solve the household’s and firm’s problem and characterize a competitive equilibrium.

The household’s optimality conditions are, for all ¢ > 0:

uc(cr, 1 — 1) 1+ 78,
Eul . . =1-0+R
e Bue(cr1, 1 —liv1) 14 7f M

uc(cr, 1 — 1) ‘ <1+th+1

=1+7r4
Buc(ciyr, 1 —ligr) 1+ 7f ) "

l
1—-7

1+77

) = (e, 1—1y)

Intratemporal: wyue(cp, 1 — 1) - <

Budget const.: (1 + th)Ct + kt+1 + At41 = (]. - 5)k§t + Rtl{?t + (]. - Ttl)wt + (1 + rt)at

ﬂtuc(cn 1- lt)

Tr . . li =
ansv. cond Jim e kty1 =0
. 5tuc(ct7 1—1)
1 —_— =
M e Tt
Init. cond.: ko, ag = 0 given



The firm’s optimality conditions are:

wy = Fy(ky, 1)

Ry = Fp(ke, lt)

d. State the conditions under which there is a steady state and characterize steady state
allocations.

To characterize the steady state, we can use the social planner’s problem. In steady

% . I % . * . * ok ¢ _ x 1 _
state, ¢ = ¢, l; = I",ky = k", g¢ = g",wy = w*" Ry = R*,ry = r*,70 = 7.7/ =

7;. The only way in which g; can remain constant is if p = 1, in which case g* =
go- So there is a steady state only if p = 1. The steady state is characterized by

c* Uk w, R r*, 1), 7 that solve:

; =1-0+ Fp(k*, 1)
ue(c*, 1 — 1) Fy(k*, 1) = wy(c*, 1 — 1)
&+ E +go=(1-0)k*+ F(k*,1*)
w* = Fy(k*,17)

R* = Fy(k*,1%)

r*=R"'—§

9" =T+ mwl

Note that there are infinite combinations of taxes that satisfy these equations.

e. Is the competitive equilibrium Pareto optimal? You don’t need to provide a formal
proof, but use the answers above to explain your answer and give intuition. If the
competitive equilibrium is not Pareto optimal, which policy could the government

implement for the equilibrium to be Pareto optimal?

For any set of taxes 7¢ and 7/, it is easy to see that the allocations that satisfy the social
planner’s optimality conditions do not satisfy the competitive equilibrium conditions.

Therefore, the competitive equilibrium is not Pareto optimal. The reason is that



the labor income and consumption taxes distort the intertemporal and intratemporal
decisions of households. Taxes to consumption and labor distort the relative prices
of ¢; and l;, generating a distortion in the intratemporal (labor vs. consumption)
margin. Similarly, different taxes to consumption over time distort the intertemporal

(present vs. future consumption) decision.

The only way in which the government could achieve Pareto-optimal allocations is if
it sets taxes in such a way that the optimality conditions of the social planner and

competitive equlibrium are the same. This means that:

L4780 1-7 1 I
<1+Tf =1, T+e =1, gt =T1ic + Twily

This can happen if, and only if, 7, | = 77, 7f = —7}, and g; = 7f(c; — wyly). Only
if these conditions hold, the intertemporal and intratemporal decisions of households

are not distorted and the social planner can achieve the Pareto-optimal allocations.

2 Recursive Formulation (30 points)

Assume the same environment as in Question 1.

a. State the social planner’s problem recursively. What are the state and control vari-

ables?

The state variables for the social planner are k and g and the control variables are c,

[, and k. The recursive formulation is:

V(k,g) = max wu(c,1—1)+8V(K, pg), st

el k!

c+k +g9g=0-08k+F(k,1)

b. Does a solution to the recursive formulation of the social planner’s problem exist? Is
it unique? Explain what conditions ensure the existence and uniqueness and show

that the social planner’s problem satisfies these conditions.

Yes, the social planner’s problem has a unique solution. Define the operator T :
B(R%) — B(R%), that maps the set of bounded functions over R? into itself, such
that:



T(f(w,y)) =max u((l-0)k+F(k1)—a"—y, 1 —1)+Bf(a, py)

!
lx

Blackwell’s conditions are sufficient for a function to be a contraction mapping. If we
can show that 7" satisfies Blackwell’s conditions, then 7" is a contraction mapping, so
by the contraction mapping theorem it has a unique fixed point. This fixed point is

the solution to the social planner’s problem.

(a) Monotonicity: Take f,h € B(R?), such that f(z,y) < h(z,y) for all (z,y) € R2.

T(f(xay)) = ma,x U (1_5 k—i—F(k,l)—x’—y,l—l)—i—ﬁf(x’,py)
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(b) Discounting:

T(f(z,y)+a) = max u((1 =0k + F(k,1) —a' —y,1 = 1)+ B (f(z', py) + a)

i

= max u((1—8)k+F(k1)—2' —y,1-1)+Bf(,py) + Ba

lx!

= T(f(z,y)) + Ba

Then, T is a contraction mapping with modulus 3, so there exists a unique
function V, such that 7(V') = V. This means that the social planner’s problem

has a unique solution.

c. Define a recursive competitive equilibrium. Be sure to clearly identify what are the

state and control variables of the household.

The individual state variables for the household are k and a. The aggregate state vari-
ables are K, L and G. The control variables are ¢, [, k’,a’. The recursive formulation

of the household’s problem is:



Via,k, K,G) = max wu(c,1 1)+ BV(d, kK, K pG), s.t.

¢,k a’

1+ 7(K,G))c+k +d =1 -0)k+R(K,Gk+ (1 —7(K,G)w(K,Gl+ (1+7r(K,G))a

K'= H(K,G)

A recursive competitive equilibrium are a value function V'(a, k, K, G), policy functions
K(a,k,K,G),l(a, k,K,G),c(a, k, K,G), pricing functions w(K,G), R(K,G),r(K, G),
tax functions 7¢(K, G), 7'(K,G), and an aggregate law of motion H (K, ), such that:

(a) V(a,k, K,G) solves the household’s problem, with ¥’ (a, k, K, G),l(a, k, K, G), c(a, k, K, Q)

being the associated policy functions

(b) The pricing functions are such that:

w(K,G) = F(K,1(0,K,K,G))
R(K,G) = Fi(K,1(0, K, K,G))

r(K,G)=R(K,G)—¢
(c) The tax functions are such that the government has a balanced budget:
G =7°(K,G)e(0,K,K,G) + 'K, G)w(K,G)I(0, K, K, G)
(d) Markets clear:
c(0,K,K,G)+K(0,K,K,G)+G=(1-§)K + F(K,l(0,K,K,Q))

(e) Consistency:

H(K,G) =k (0,K,K,G)
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